£ [SET-111]
‘ GROUPA
‘Marks: 150 ' S
NOTE:

(i)
(i)

will be deducted for each Wrong answer.
There are 150 questions In this booklét. Against each question four alternative cholces A, B,Cand D
are given, out of which only one is correct. Indicate your choice of answer by darkening the suitable
circle with Black{BIue Ball Pen in the OMR answer sheet supplied to you separately.

Time: 2.30 hours

Attempt all questions. Each questlon carries one mark There will be negative marking and b4 rnarks

1. [ Which of the following is the oldest English dally In India?
A. The Hindustan Times ° C.” 'Deccan Chronicle
_|B. The Indian Express D. _The Times of India
2 MCTBT"is a term related to . i
A. Taxes ' C. _Nuclear weapons
B. ‘Space research ; D. Rallwaygoods
3 Which ‘country Is 'set-to become the’28th member- state of the European
* { Unlonon1 July 2013? . : '
A Croatla C. Spain
B. _Greece D. Belgium
4 Who contro]s Lthe government money !n India? '
A. “The Reserve. Bank of lnd;a [C."__Finance Minister
.- B. President D. Parleamem
5 The song ‘VandeMantaram’ was composed by?
TA. " ’Rabindranath Tagore "~ |G Sarojini Naidu
B. - BankimchandraChatterji ‘D. Gbpal Krishna Gokhale
6 The ozoneé layer is presentin :
A. . Troposphere ‘| C. Mesosphere
: B. Thermosphere D. Slratosphera
7 Chief Justice of India Inaugurated First Fast—Track Court for dealing WIth the L
crimes agalnst férhales on 2 Jéﬁmry 2013 in Which of ftie followi'n'éj'place?
A. Delhi ‘Mumbai
. B. Hyderabad D. Chennai -
8 Find-The Next Number in the seriez. 1,2,3,6,12,24,48,
A. 64 C.‘ 90 -
B. 78 : D. 96
] Two trains running In opposite directions cross’a man standing on the platform
in 27 seconds and 17 seconds respecllvery and lhey cross each ofher in 23
seconds. The ratio of thelr speeds Is: - )
A. - 1:3 .C. 3:4
B. - 3:2 D. None of these
10 | A can do a work In 15 days and B in 20 days. L they work on It tngelher for 4
days, then thé fraction of the work that Isleftis: b
A. 1/4 C. 715
B. 1/10 D. 8/15
11__| The cost price of 20 articles Is_the same as the selling price of x articles. If the |
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rofitis 25%, then the value of x1s:

She sald that her brother was getting married.

C. 18 .
g.- 12 D. 25
12 | Choose the correct meanling of proverb/idiom :
To bite the dust ) : '
[A" " To be deleated Inbaflle 'C.__To be ashamed of-
B. To learn a lesson . .D._ To work very ha
13 | Choose the correct meaning of proverbiidiom : - -
Tocrywolf .
A. To listen eagerly C. To tum pale - _
To give false alarm D. __To keep off starvation
14 Sani ..... the marathon for the first time last year.
. was running - C. runs-
B. .~ hasmun D. ran
15 | Change the tense to past perfect continuous :-
He will mend his clothes. ... ' S S .
A. " He had been .mended his| C.  He had been mending his clothes:
. clothes. - : ) - :
1 |B. _He had mend-hisclothes. - D. _He had mendes his clothes.
‘| 16 * | Convert the sentence to indirect speech ;. ) ) .
“If you don't keep quite | shall shoot you*, he said to her in a calm voice. :
Al He wamed her to shoot if she C. He wamed her calmly that he would
didn't keep quite calmly. . shoot her if she didn't keep quite.-
B. He said calmly that I shall shoot | D. Calmly he wamed her that be quite
you If you don't be quite. or else he will have to shoot her.-
17 | Convert the sentence to direct speech : . )

A.: She said, "Her brother js getting | C.  She said, "My brother s . getting
Married.” : married.” -
B. She told, *Her brother is gefling | D. She said, "My brother was. getting
i married." A AT T e~ — e
€ | Catching the earlier train will givers the ... 1o do ébme«shoppmg, 3
A.  chance - . : C possi@y\.
19 |lIsawa...... of cows In the fleld. . S I i
A group C. swam  —— |
B. herd D. flock _ -
20 | Which of the following countries would host the next commonwm
20137 . ' . _ . :
A. Sri Lanka C. China . ————
B. Japan D. - USA T
21 | Whatis the value of lim, (-;%'_%Ezi:- ? '
A L. . C.
B. 0 D.
o4
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22 | If a, B are the roots of the equations ax? + bx + c = 0, then'the value of *—’—,.?,_l Is
1A, b/a C. a/c
B. -b/a _ ' D. c/a
" 123 . ;Nha; Is the sum of first 35 terms of an A.P. If second term Is 2 and seventh term
s 2
A. 2210 | C. 2110
B. 2310 D. 2410
24 | A group consists of 4 glris and 7 boys. In how many ways can a team of 5
members be selected If the team has at least 3 girs?
| A 91 C. 92
B. 93 D. 95
25 | sin10%in30%s/n50%sin70°=
A. 3/16 C. 1
B 1/16 D. 1/2
26 tanG+ x) tan (§£—+x) =
A. 1 i C. -
: B. 2 _ D. =2
27 | Whatls Is the value of x In an2x + \(- 3tanx taan \!— 7
A" =47 nisanyinteger = 4%, n'is any.Integer
B. —+2,nisanylnlager | D. T"”q n ls-any integer .
28 | The angle between | the lines is y —v3x =5 andV3y—x==61s . s
: A. 30° ’ C. 60 B
B. 90° D. 120° . ' Lk
29 The equation of a stralght line . perpendicular to the fine x— 2y+ 3=0 and
' haying intercept 3 an x-axls is _
A 2k+y+6=10 C. x4+2y+6=0
B. 2x+3y—6=0 D. 2x+y—-6=0
30 The equation of the circle passing through origin and cutting intercepts aand b
on x-ax]s and y-axls respectively Is
A x2+v:=bx—ay=0 ; C. x* +y +bx+ay=0
1B. x*+y*—ax—by=0 D. x*4+y*+ax+by=0 .
" [31 | The equation of the ellipse with c2ntre at the: odgln. the length of the major axis
: 12 and one faocus at (4 0)is som
2
LY o e
36__20 20 36
2y p. .Y _
| 36 20 2036
32 | The ratio In which the x-axis dwides the line segment ]olnlng polnts (7,-3) and
(5,2)Is
A, 23 C. 3:2
B. 1:2 ) D. 4:3
33 | The eguation of the two langents to 2% +y* = 3 which make an angle of 60° with
the x-axs of x Is :
A y=V3xt1) [C_x=v3y2)
5

Scanned by CamScanner



e !
-l

ThreeA/13
[0 y=v3x+2)
= 1
_ D 2
35 If x= - 1
. —,.K__‘_‘f_____(“f:in_t_)_iyy=u(l—cost)theng-’;ls
tan - ' ' * cate. o
B —— 2
. ~tan— t
e
138 [ Whatis the : 2
e point = S P
e 2 E? n on the curve, 2y = 3 -_xz at which the'tangent Is parallel to the
A. -1, — :
———] e d,—1 - . :
=‘. -
A‘ 1+siny - - -
- ta —_— i =
nx —secx +.c €. tnx+secx+c N
: Secx—tanx + ¢ D :
- T _ Y. —Ssecx—tanx+4c
33 -Ex (; —_— -—) dx = ’
- x2
A =i E
ex c C. E—-]- c
B X e
—+e D. —=+c
— s S L |
39 f sin?xdx = |
i -mf2
A. /4 C. n/3
B. ,‘4 * I,z i N - ) D- T
-,
40 J Vit sin2xdx =
e [ -
= C. 0
. -1 D1
41 How many moles of water are'pr-esent-iﬂﬁﬂ q of water
A1 C. 18
. B. 10 D. 100- - '
42 The quantum numbers for the last electron in an atom aren=3,l=1andm=-1
The atom Is — '
A Al C. Mg
B. Si .G
43 | The type of hybrid orbitals used by boron in BF; are
A._sp : C. oy -
. |B. sp° D._sp’ . —— |
24 | The s and p characters In the bond formed by the central atom are equal in

6
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A. CH, C. CH,'
B. CH=CH D. CHy
25 [ The total number of electrons present In_18 mi of water (density 1g/mi)ls
A. 6023 x 102 C.  6.023x 107 ,
B. 6.023 x 10* — |D. 6.023x10%
46 | Types of hybridization exhibited by the C atoms in-acetylene, CzHa, Include
which of the following? .
l. sp
. s
nm. .sp’
A. lonly C. landll
X B. 1l only : | D. lland lll
AT Hydrogen bonding results In :
' A. ~ higher heats of vaporization C. _higher boilng points
B. higher melting points : D. ° All are comect
48 Which one among the following does not have the hydrogen bond
A. Phenol . . C. Liquid HCGl
B. Liquid NH; ) D. Water
49 Which of the following describes a hydrogen bond?
- ['A. the bond between hydrogen inone | C. the bond between hydrogen in one
water molecule and dnother *. water molecule and oxygenina
_hydrogerrin a different water X different water molecule S
molecule’ ’
B the bond between two hydrogen - | D. the bond between hydrogen and
atoms within a molecule of water _ oxygen within a molecule of water
50 Which of the following compounds s not correctly named? 0 T e
A. .S0,, sulfur dioxide ~ |C- CO, carbon monoxide °
B. CCl, carbon tetrachloride . D~ NO,, dinitrogen oxide -

51 |Whenthe equation ? Fe + 2 Oz =0? Fe,0; |s balanced, the coefficlents of the
.| respective reactants and products (in order) could be: )
A 23,2 _ C. 434

~ |B. 4,32 . D. MNone of these
52 All atoms of an element have the same -
g A. number of neutrons s - 1C. atomic number

B. . atomic mass . . L D. - mass number .
53 | What s the total number of electrons In an Mg™ lon?

<|A._10 C. 2

B. 24 - e D. 12

54 | Which of the following element has highest lopization energy
A Sodium__f: C. Caicium H
8. Aluminium___° ' .| D. Phosphorus ;7

55 | Inthe modem Perlodic Table, the elements are arranged according to
A. Alomic mass " | C. - Mass number
B. Alomic number : D. Oxidation number

56 | What Is constant fora body moving In a horizontal circle?
A. Acceleration ' C. Force
B. Velocily D. Kinetic energy =
57| An electron revolves around the nucleus of an atom, the necessary centripetal
 force |s provi dedbythe - "~ s
A. electrostatic force

C. nuclear lorce

__| B _magretic force " |D.gravitational force &
58 | A stone released with zero velocity from the top of a tower reaches the ground |
- . 7 . E
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In 4 seconds. The helght of the tower Is about
A 20m C. 80 m

B. 40m D. 160m :
59 | In an Inelastic colllslon _ are’
" | A momentum is conserved but energy | C." both momentum and energy

D.

Is not conserved

m are
‘B. momentum Is not conserved but nelther energy nor momentu
energy is conserved conserved

80 | A car moving with 72 kmvhr Is brought to rest In 10 s after applying the brakes.
The refardation produced Is

A. 20 ms C. 2m/s?
B. 2m/s _ D. 10m/s’ ——
61 | The moment of inertia of a solid sphere ( mass M, radius R) about its dlamete
S
A. NP C. 52 MR?
B. 2/5MR? D. 1/4 MR.

62 | If a gymnast sitting on a rotating stool wi
. | lowers his arms.
A. _The angular velocity decreass -

B. His moment of Ihertia decrease
€ | The mass of a fiywheel Is concentraled
I A A large moment of inertia C. A stable moment of inertia
B._ A small moment of inertia, D. _An unstable equilibrium

64 Average kinetic energy of mole-cul-zs of a gas measures its__ i

th his arms outstretched, suddenly

C. The angular velacity remains same
D. _The angular momentum Increases
near Its rim so as to have )

A. Specific heat - C. Temperature ety -
B. Quantity of heat D. Latent heat . 4
65 | The absolute zero Is the temperature at which . e
A, Waler freezes : - C.__All type of molecular motion ceases
B. All substance exist in solid state D.- Molecular motion of conductors
: Increases
66 | The law which states that the variation of electric field causes magnetic field is
A. Faraday's law -1 C. Modified Ampere's law
B.. Biot Savert law L D. Lenz'slaw
67 | The expression yHo€o has the dimenslons of
A. LT ' C. [L'T)
8. LT - D. [T

66 | An electromagnetic radialion has an en

ergy 14.4 eV. To which region of -
electromagnetic spectrum does |t belong? . :

A. _Ullraviolet region ) C. X-rayregion =~ ———————|
: B. Visible region - D. y-rayregion =~~~ ————————
69 | The minimum potential to start the dlscth
A. _crilical potential C._excitation potentia) —~————————
B._ionization potential D._slriking potentia) —————_
70 | The half-life of a radioactive substance is 140 da%l%_\
will decay from a 16 gm sample of the :aul:lstam:e!":‘s Ator Tond much time, 15. am |-
A. 140 days C. 420days -~ ————u |
B. 560 days D. 280days =~ ————— |
* b * " __‘—i—\x__
71 | I the Integer needs two byles of sto j m value of o ——___
Integnr'[sii yt rage, then maximum valug of an unsigneg
A (2™1)

™ -__E%

D. (2"
72 | Which of the fnl!owlng opcrato

or takes onl Entengm
1A 4 i [G % = =

— . P -‘-_-‘_--—-____
. e — i

. T — - l
e
e -i_ﬁ 4 .

Scanned by CamScanner




w T 0

Lo

w

o

o - Y -
' Sq‘wu,_"___ ThreeA/13
B. ° : [D. %
Any C program - T
A. Must contain al least one functlon C: Needs input data
B. Need not contain any function .~ D. None of these
| The expression (4+6/3°2-2+7%3) evaluates to
A. -3 C. 6
B. 4 I e ’ D. 7
The statement : g '
Iot **a; . y
A. Is illegal . ' C. Is syntaclically and sgmantically | . K-
' correct £
B. Is legal but meaningless - D. None of these
The only state transition that Is Inltlated by the user process Itself Is
A. Block . C. Wakeup- | Y=
B. Dispatch . D. _None of these ¥z
The number of Instructions needed to.add ‘n’ numbers and store lhe result In :
memory_u Ing one address Instructions Is fq"r,
'A- n . | C._n+1- < :
B. n-1 D. lndependent of ‘'n’ . |
Which of the follow ng servl::e Is.not supgoned by the operating system
A. -Protection C. Compilation :
| B. Accounting - D. VO operation- "~
In Round Robin CPU schedullng, ns the time quanlum Is Increased tho avernge o
turn around time  ~ - - A
A Increases C. Remains oonstant _
B. Decreases ' D. Varies [megulardy= . : 4
The Boolean expression X+ X'Y equals - e - %t .-
A X+Y - C. Y+YX - ' Py Nt
B X+ XY - D. XY+YX . ' ),fx.-;.;-_».
iven truth table can be represented by .
A. Kamaugh map C. Praduct of sums of Boolean L
. expressions :
B. Sum of products of Boolean - ~ D. Allof these ; s,
-expressions - o - - 7N
The average successful search time for‘sgauentlal search on ‘n'tems Is - P
A. n2 (n+1)/2 ~ . & - P
B. (-2 . D. Yag(n) + 1 _ _ et <
The number of possible binary trees with 4-nodesis (1 /
A 12 . C. 14.
Lﬁ. 13 - D. 15
A sorting technique that guarantees that record with the same pﬂmary key
occurs In the same order in the soned list as In the original unsorted Ilsl Is said
to be
L&. Stable ‘ C. External
B. Consistent : D. Linear )
% | which of the followlng Is useful In Imple menting quick sort
A. Stack C. List
1B. Set D. .Queue
If every non—key attnbuta Is func!lonally dependent on the primary key, then the
relation will be In
A. First normal form C. Thdnd normal fonn '
D. Fourth normal form:

B. Second normal form

In an E-R diagram, ellipses regresent
A. _Enlily sets [ C. Attributes

9
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B. Relationship among entlity sets

D. Link between attributes and entity

sels
Iled
88 | The attributes of one table matching the primary key of another table, Is ca
as _ :
A. Foreign key C._Candidae key
B. _Secondary key D. Composite key

89

The employee salary should not be greaterthan Rs. 2000. This Is

A. _Integrity cons¥aint

C. Over-defined constraint

B. Referential constraint

90

The topology with highest rellablllty Is

D. Feasible consh'e_unt '

A. Bus topology C. Ring topology
B. Startopology - D. Mesh topology
91 | The Hamming distance between 001111 and 010011 Is.
1A 1 C. 3
B. 2 D. 4 °
92 | End-to-end connectivity Is provided from host-to-host In -
A. _The network layer - C. The sesslon layer
B. The transport layer D. Itis combined functionality of the
network and 1he data link layer
93 | In broad sense, a rallway track Is an example of
~ | A._Simplex . C. Full-duplex
B. Hall-duplex ‘D. Al of these
94 | Assertlons are conditions which are true at the polnt of execution
' A. Always- C. Many limes - .
| B. Somelimes . ' D. Notimes .
85 | The.extent to which the soﬁware can continue to operate correctly despite fhe
introduction of Invalid Input Is called as : . S
A. Reliability : C. -Fault-tolerance
B. Robustness. : D. "Portability :
96 | if the number of conditions In a de-clsinn table is n, the maxlmum number of
rules (columns) possible ls
A n c. 20 .
B. 2n D. log.n ) .
97 | Software testingﬁchnlquas are most eﬂectlve If applied Imrnediately after
A. Requirement specification. C. Coding- - ::-
B. Design . D. Integration .
9¢ | Transistor as a dlgltal dewce operates in which region -",'-' o
A. Cut off region . C. Active region ‘
B. Saluration region D. Both cut off and saturatian region
99 | At a P-N junction the potential barrier is due to charges on elther side of the
|unction. These charges are
‘A._Majority carriers C. Both majority and minority carriers
B. Minority carriers D. Fixed donor and accepter ions
100 | The Input resistance of BJT is =
A. More than that of FET C. Same as that of FET
B. Less than that of FET iy D. None of these
101 | An addition of Impurity atoms to the pure semiconductor makes it an
A. _Extrinsic semiconductor - C._Both (A) and (B) are correat
B. Intrinsic semiconduclor D. None ol lhese
102 | Maximum efficiency of a hall wave rectifier Is I —
A. .33.33% - ——1C. 50% e ——
ABAOB"— 7 |D. Noncolthese T —

"1

0
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103 [ The acceptor type of impurity Is

: A. Phosphor C. Freon
T B. Boron “|-D. Noneollhese

104 | The ripple frequency In case of a full wave rectifier Is
) A. Twice the supply frequency ~~ - C._Thrice the supply frequericy
- " |'B.  Equal to supply Irequency B “|D. None of these
- 105 | FETisa . _ :
- A. Bipolar device . C. Current controlled dewce'
- ] B. Unipolar davice . ¢ D. Noné of these

106 | In which of the followin modes MOSFET can be operated? -
o C. Bath enhancement and deplehon

A. Ephancement
B. Depletion .. : D, None of these

107 | A NAND circuit with posilhre _oglc will-operate as . _ :

: A. NOR with negative logic - C. OR with negative logic
B. AND with negative logic D. None of these

108 | In the active region of CB transistor, while the ‘collector base ]unctlon Is
blased and base emitter |unctian is

| blased .
A. Forward, Forward : C. Forward, Reverse .
B. Reverse, Forward D. . Reverse, Reverse
109 | What Is the mostfrequenlly encountered transistor conﬁguration?

A. CB C. CE .

B. CC . ' " ‘D. None of these -,
.. | 110 | Which component of collector.current Is called the leakage current? i
. A. . Majority - ] . C._ Minority L - I
: B. Independent - : D. None of these i

.| 111 | In atransistor - : > ] : -,
A. The conductivity of emitter regionis | C. The conductivity of emitter regionis |-

& lower than that of base region higherthan that of base reglon
. ! B. The conductivity of emitter region- - [ D. None of these

N and base regian are of same order

112 | A carrier Is simultaneously amplitude modulated by sine wave with modulation
Indices of 30% and 40% respecilvely The overall modulation index will be

A. 50% i C. 100% '
B. 70% ' D. -- None of these
113.| What PWM pu!sc parametcr ls dlreclly proponional to the amplitude of t‘xe

.| message signal?

A. . Amplitude . C.. W"dlh
B. Position ’ D. None oJ lhese
114 | A non-inverting closed-loop op-amp clrcuit generally has a gain factor
A. Lessthani C. zero- -. 3

| B. Greaterthan1 "~ D. None of these - .
115 | Which of the following statement is not true for PPM

A. It requires constant transmitter C. ll can be g.enemled from PWM
power oulput

B. It depe_nqs upon transmitter receiver | D. The pulse amphtude does not
synchronisation refmaln constant

116 | By changing modulation index from 0 to 1 in AM the change in transmitted

power will be

A. Increases by 50 percent C. Halved

B. Doubles .. D. Remains same D ]

117 | In amodulation-system If the modulating frequenc -
y Is doubled, t
: index also becomes doublo The system |s .. he modulatlon
L_.lA_FM . ) 1e. pM

‘.-1.1- ¥ K ;~l-h'>.
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e [0 Nono ol hese o rierironic |
118 | Sixty capsulos are to be filled in a battle uutomalicn:)lrlr:‘ef""ﬁ"g _
counter. The number of fllp flops In sucha munﬁ/—,—/ .
B. 5 D .
119 | In a SR fiip flop when S=0, =1 the flp flop OU'P“‘ wil.____———
A. Toqdle C. Becomeszerd __—— |
B. Becomes one . D. Noneofthese ___———
120 | The 2-Input NAND gate Iras a Tow oulput when the Input bitsare____———.
A. High : C. Dnﬂeter}lm . ==
B. Low D. None of the 10
121 | How many flip flops are required-to lmplement Twisted ring counter having
slates
A 10 . C.’ 5 :
B. 20 D. 4
122 | The output of a logic gate Is 1 when all its Inpuis are at logic 0. the gate is
elther
A. a NAND or an EX-OR C. anORor an EX-NOR
" B.” an AND or an EX-OR D. a NORoran EX-NOR N
123 | An ldeal Op-Amp has ] :
A. Zeroinput impedance ‘- - | C. " Infinite Input impedance
" | B. _Infinite output impedance D. Noneofthese __
124 | For an op-amp having differential gain 4, and common-mode gain 4, the
CMRR Is glven by .
A A +A, C. A_".
- ) . “f
B. A, - A ~|P. A
. ’ z Ap
125 | The average value of voltage (ln vous) fora 230V, 50-Hz, slngte-phase ac
supplyis
A. zero- C. 230
B. 325 D. 398 :
126 | A 100 wsatt 230 Vbulb Is supplied with 115V volts. Power. consumpﬁnn (in
- - | watts) by the bulb will be (assuming the value of bulb resistance constant}
A. 100 C. 75
B. 50 D. 25
127 | For an R-L-C series clrcuit, the voltage across the capac[tor at resonance Is -
A. always more than supply voltage C. always less than supply voltage
B. depends on the supply frequency D. depends on the values of R, L and C
128 | Tellegens' theorem s applicable to ,
A. linear network only C. _nonlinear network only
B. both linear and nonlinear networks | D. none of these .
129 | The active and apparent power of a load Is 100 W and 200 VA, the power factor
of the load Is
A. -05 C. 06 -
B. 08 D. unity
930 | The power in an ac circuit Is measured using
A. power factor meter C. wattmeter -
= B. voltmeter D. voltmeter.and ammeter

| resistanc
'| varied from zero to 10 ohm. What should be the valu nce which can be |

A dc voltage source of 100 V having varjable Interna
e of Internal

esi
order to transfer maximum power to aload of 5 ohm resislor conr stance In

this source? ; nected with

12 e
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{A._5ohm : : : C. 10ohm,
‘B. zero D. 20 ohm
132 | The current through an Inductor In an R-L serles clrcult connected with dc

supply at t = 0 (assuming zero Initial current through the Inductor) .

A. _increases from zero o maximum C. . decreases from maximum to zero
-B. It may increase or decrease D. _none of these
133 | Two resistors of resistances 7512 ohm and 125¢3 ohm are connected In serles.
What will be the absolute und relatlve error (%) In equlwalent mslslance?

A. 10ohm, 0.5 . C. 50hm,2.5
B. -1ohm,25 . | D. 5o0tim, 0.5

134 | A galvanometer can'be converled into an ammeter by connecﬁng JR—C U
resistor In ..........with the galvanorneier. : ;

A. low, saries _ C. Lﬁgh series
. B. high, paraliel ¥ D. low, parallel
135 | Moving Iron type instruments can be used for the measurement of
' A. only ac voltage and cumrent C._only dc voltage and current

B. both ac and dc voltage and curent | D. none-of the above.

136 | Standardization of potentiometer Is done In order that, they become

A. precise C. accurate
B. _accurate and direcl readrng | D. accurate'and prec!se
137 | Which of the following bridge Is usad for the measurerment ofﬂgh Q
A "Hay’s bridge . . C. Maxwell’s biidge . ‘-
B. . Wheatstone brldge D. all of above

138 | A Llssajous pattern on an oscllloscope is stationary and has 5 horlzontal
tangencles and 2 vertical tangencies. The frequency of horizontal lnput Is 1000
Hz. The frequency of vertical Imaut In Hzis -

A_400 - . C. 2500 -
B. 1000 - " | D. 2000 )

139 | A cathode ray oscilloscope can be used for the measurement of - 3
A. voltage and current C. - phase difference between signals

B. time period and frequency of a signal | D. all of the abave

140 | How many display segments are requlred for display of alphanumeric

characters
A. seven . C. nine
B. five L D. fourteen
141 | Since Input resistance of an operatlonal amplifier s Infinite’
A. its output resistance Is zero C.-_its input current is zero
B. it becomes a‘current controlied - D. its output voltage becomes
device independent of load resistance

142 | A successive approxlmauon A/D converter has a resolution of 20 mV.
be Its digital output for an analog Input of 2.17 V2 What will .

TA. 01101100 C. 01101011
B. 01101101 ) __|D. 11000001
143 | An LVDT Is used for the measurement of
A. displacement C. voltage .
- B. lemperature . D. -magnetic flux
144 | A transformer can be used for _ . denslty
A. ac lo dc conversion C.__power amplificati
B. " electrical isolation " D. allof abovl:a =

145 | A 1-phase transformer has 200 primary and 100 seconda
secondary cument Is 10 A. What will be Its primary cUmg?tums Ifits
L SA : C. 15A

Whlch of the followlng electrical motors runs al conslanl speed?

146
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A. =ynchronous

C.

induction

B. dc series

D. dc shuntmotor _

e —

]

147 | At no load, the speed of dc series motor Is high because
A. armature current is high C. field current i high
B. -field current is low 1D. ammature voltage is '0“' —
148 | Which of the following electrical motors produce h_lgh_swe_————J
A. Induction C. dc shur;t‘h -
B. dc series D. none of these -
149 | For generation of bulk electric power, which of the following generator Is used
A. ac generalor (alternator) C. dc shunt generator
B. dc Seriés generator D. induction geqerator I
150 | Which of the following can be used for Impedance matching
A. capacitive transducer C. transformer ——
| B. rotating machines _ D.  none of the above
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